[ number of missing inner layers | [ number of missing outer layers |

1 Entries 59 1e - - - - —| Entries 59
Mean 1.797 E Mean 0.08475
Std Dev 1.218 = Std Dev 0.4234
~ : ; ; I I : ; ; I
10 1§_ Entries 56 10 1§_ Entries 56
E Mean 1.679 E Mean 0.08929
C Std Dev 1.182 C Std Dev 0.4341
-2 | -2
10 3 Entries 57 10 3 Efjtries 57
F Mean 1.719 F Mpan 0.08772
3 B N Std Dev 1.21 3 B St Dev 0.4305
10°F ] 10°F ) XTI
o Entries o Entries 56
r Mean r Mean 0.08929
Std Dev g
107 107
10°F (T A ERratin AT K
.91016: _91(&9‘_....!.... .........!......... ....II
- E - C .
© - © C H
14 1'055 o 1.05F T
= 2 :
0.95F- ] = :
0.9t 0.95E——i DRSO b
0 0 05 115 2 25 3 35 4 45 5
——— _NOFIT_stepZ_ttbar-phasel-newgeom
=== DQM_noCPE_step2_tthar-phasel-newgeom
mean hi{ == DQM_cpeGenericTime_step2_ttbar-phasel-newgeom
= DOM_cpeTemplatedTime_step2_ttbar-phasel-newgeom
= 40 Entries 59
n r Mean 14.69
> r 10 Std Dev 3.416
A 35F A S
g r Entries 56
< - Mean 14.61
v 30F Std Dev 3.437
e - - .| Entries 57
r : : : Mean 14.72
25F : e N [ n - | Std Dev 3.508
r N N N H H |
r . Entries 56
20 N Y Y e S | Mean 14.75
o . Std Dev 3.511
15 -
F 1=
10f -+ -
[ P IR
L +r : : 2 i :
T L : T = -—n—cr-:d -
0 d [ o F
] dee - 4 C
N 0.9 a:
[ T : : : :
0.95 - 0.8
=3 3 5 10 15 20 25 30 35 40
track n track hits

[Nofreco track vs pT |

Entries 66
r Mean 2.432
il Std Dev 3.468
107 gl T P 1
E Entries 63
[ Mean 2.469
o Std Dev 3.578
10 E . 'I
E Entries 65
- Mean 2.32
-3 : Std Dev 3.477
07 g T
E Entries 63
L : Mean 2.354
Y I . R, 1 L. .| StdDev 3.532
1074 E . - =
-5
107
o10:%k
= E
c ¥
0.9F
0.8F
0.75




	Contents
	Page 1


